AP Macroeconomics (Jones)





Name ________________________

Unit 3
(Ch. 8 p.146-164, Ch. 9 p.166 -186)



Period _____   Date _____________


(Ch. 10 p. 187-204, Ch. 11 p. 208-266) 

Aggregate Demand & Aggregate Supply: Fluctuations in Outputs and Prices

“Basic Macroeconomic Relationships”, “Macroeconomic Models and Fiscal Policy”

“Aggregate Demand and Aggregate Supply”, “Fiscal Policy, Deficits, and Debt”

Organize your unit assignments into a three-brad folder in the order in which they appear on this unit sheet, with this sheet being the first page.  Each unit portfolio should represent your highest quality effort.

1)  Terms:  Select one of the following options:  Divide paper into six squares OR make flash cards. Label each square or card with the idea/term.  On one side, define the term.  On the other side use a picture, practical example, headline from a newspaper, or current event topic to demonstrate your knowledge of the term and its’ application to our society.

Chapter 8 
1.  consumption/saving schedule
      
2.  break-even income


3.  APC/APS



4.  MPC/MPS


5.  wealth/wealth effect
6.  expected rate of return
7.  investment demand curve


8.  multiplier


Chapter 9


9.  Aggregate Expenditures Model (Keynesian Model)

10. investment schedule


11.aggregate expenditures schedule
12. Equilibrium GDP
13. leakage
14. injection
15. recessionary expenditure gap

16. inflationary expenditure gap
Chapter 10
17. aggregate demand (AD)
18. real-balances effect
19. interest-rate effect

20. foreign-purchases effect

21. aggregate supply (SR/LR)

22. menu costs
23. efficiency wages
Chapter 11

24. expansionary fiscal policy
25. budget deficit/surplus
26. expansionary fiscal policy
27. cyclical deficit
28. lags (3)
29. crowding-out effect
30. public debt
31. U.S. securities

32. external public debt

2)  Current Events:  Search the internet, newspaper, or magazines for a current event article that focus on the main topics of this unit (personal saving/debt, national deficit/debt, fiscal policy, etc.) and complete the following assignment: Write a paragraph summarizing the main ideas in the article, write a paragraph explaining how these ideas or concepts relate to everyday life (give an example of practical application in the real world), and a paragraph explaining your personal opinion.
3) Council of Economic Advisors Pamphlet: Make a pamphlet or brochure describing the CEA, its role as it relates to fiscal policy, 
     and short biography of each member. Try www.whitehouse.gov for information on CEA.
4)  Handouts: worksheets, video guides, class activities, etc.

5)  Notes:  class notes, book notes, etc.

6)  Unit Questions: Answer the following questions with thoughtful, complete sentences. You do not need to re-write the questions. Quality responses will be several sentences or a small paragraph.

1.  Explain how each of the following will affect the consumption and saving schedules (as they relate to GDP) or the investment schedule:

a.
A large increase in the value of real estate, including private houses.

b. A decline in the real interest rate.

c. A sharp, sustained decline in stock prices.

d. An increase in the rate of population growth.

e. The development of a cheaper method of manufacturing computer chips.

f. A sizable increase in the retirement age for collecting Social Security.

g. An increase in the Federal personal income tax.
2. Suppose a handbill publisher can buy a new duplicating machine for $500 and the duplicator has a 1-year life.  The machine is expected to contribute $550 to the year’s net revenue.  What is the expected rate of return?  If the real interest rate at which funds can be borrowed to purchase the machine is 8 percent, will the publisher choose to invest in the machine?  Explain. 
3.  What is the multiplier effect?  What relationship does the MPC bear to the size of the multiplier?  The MPS?  What will the multiplier be when the MPS is 0, .4, .6, and 1?  What will it be when the MPC is 1, .9, .67, .5, and 0?  How much of a change in GDP will result if firms increase their level of investment by $8 billion and the MPC is .80?  If the MPC is .67?
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
4.  By how much will GDP change if firms increase their investment by $8 billion and the MPC is .80?  If the MPC is .67?
5. Refer to the table below in answering the questions which follow:
	
	
	

	(1)

Possible levels of employment,

millions
	(2)

Real domestic output,

Billions
	(3)

Aggregate Expenditures

(Ca+Ig+Xn+G),

billions

	
	
	
	
	
	

	
	
	
	
	
	

	90

100

110

120

130
	
	$500

550

600

650

700
	
	$520

560

600

640

680
	


a.
If full employment in this economy is 130 million, will there be an inflationary expenditure gap or a recessionary expenditure gap?  What will be the consequence of this gap?  By how much would aggregate expenditures in column 3 have to change at each level of GDP to eliminate the inflationary expenditure gap or recessionary expenditure gap?  Explain.  What is the multiplier in this example?

b.
Assuming that investment, net exports, and government expenditures do not change with changes in real GDP, what are the sizes of the MPC, the MPS, and the multiplier?

----------------------------------------------------------------------------------------------------------------------------------------
6.  Suppose that a hypothetical economy has the following relationship between its real output and the input quantities necessary for producing that level of output:

	
	

	Input

quantity
	Real GDP

	
	
	
	

	
	
	
	

	150.0

112.5

75.0
	
	400

300

200
	

	
	
	
	


a.
What is productivity in this economy?

b.
What is the per-unit cost of production if the price of each input is $2?

c.
Assume that the input price increases from $2 to $3 with no accompanying change in productivity.  What is the new per-unit cost of production?  In what direction did the $1 increase in input price push the economy’s aggregate supply curve?  What effect would this shift in aggregate supply have upon the price level and the level of real output?

d.  Suppose that the increase in input price does not occur but instead that productivity increases by  100 percent.  What would be the new   

     per-unit cost of production?  What effect would this change in per unit production cost have on the aggregate supply curve?  What effect 
     would this shift in aggregate supply have on the price level and the level of real output?
7.  What effects would each of the following have on aggregate demand or aggregate supply?  In each case use a diagram to show the expected effects on the equilibrium price level and level of real output.  Assume that all other things remain constant.

a.
A widespread fear of depression on the part of consumers.

b. A $2 increase in the excise tax on a pack of cigarettes.

c.  A reduction in interest rates at each price level.

d.  A major increase in Federal spending for health care.

e.  The expectation of rapid inflation.

f.  The complete disintegration of OPEC, causing oil prices to fall by one-half.
g.  A 10 percent reduction in personal income tax rates.

h. A sizable increase in labor productivity (with no change in nominal wages).

i. A 12 percent increase in nominal wages (with no change in productivity).

j. Depreciation in the international value of the dollar.

8.  Assume that (a) the price level is flexible upward but not downward and (b) the economy is currently operating at its full-employment output.  Other things equal, how will each of the following affect the equilibrium price level and equilibrium level of real output in the short run?

a.
An increase in aggregate demand.

b.
A decrease in aggregate supply, with no change in aggregate demand.

c.
Equal increases in aggregate demand and aggregate supply.

d.
A decrease in aggregate demand.

e.
An increase in aggregate demand that exceeds an increase in aggregate supply.

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

9. Assume that a hypothetical economy with an MPC of .8 is experiencing severe recession.  By how much would government spending have to increase to shift the aggregate demand curve rightward by $25 billion?  How large a tax cut would be needed to achieve this same increase in aggregate demand?  Why the difference?  Determine one possible combination of government spending increases and tax decreases that would accomplish this same goal.
10. Some politicians have suggested that the United States enact a constitutional amendment requiring that the Federal government balance its budget annually.  Explain why such an amendment, if strictly enforced, would force the government to enact a contractionary fiscal policy whenever the economy experienced a severe recession.
11. Briefly state and evaluate the problem of time lags in enacting and applying fiscal policy.  Explain the notion of a political business cycle.  How might expectations of a near-term policy reversal weaken fiscal policy based on changes in tax rates?  What is the crowding‑out effect and why might it be relevant to fiscal policy?
